Elementary Algebra - Solutions


[image: image1]
Find the value of each expression in problems 1-3 given that y = -4, v = -12, and w = 3:
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	Solution:
	-104
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	Solution:
	153
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	Solution:
	22


Simplify:
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Divide:
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Reduce the fractions in problems 8-10 to lowest terms:
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	Solution:
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Simplify problems 11-16 completely. Reduce answers to lowest terms.
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In problems 17-21, solve the equations for the variables in red. Simplify all answers.
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	Solution:
	7
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	Solution:
	1/3 and 6
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Solve the problem:

22. A buyer is willing to pay $.90 a pound for 100 pounds of fruit. A seller has apples selling for $1.00 a pound and oranges for $.55 a pound. How many pounds of each fruit does the seller need to meet the buyer's order. 

Solution: 
77.8 pounds of apples (rounded to the nearest tenth of a pound) 
22.2 pounds of oranges (rounded to the nearest tenth of a pound) 

